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Question: 1 
   
In a Kubernetes cluster, which pattern represents a valid DNS name? 
 
A. svc.cluster.local.<service-name>.<namespace> 
B. <service name> <namespace>.svc.cluster.local 
C. <Namespace> <service-name> svc. Cluster. Local 
D. svc.cluster.local.<namespace> <service-name> 
 

Answer: B     
 

Question: 2 
   
What are some primitives that can be used to manage storage in a Kubernetes cluster? Note: There are 
3 correct Answers to this question. 
 
A. Persistent Volumes 
B. Volume Snapshot Classes 
C. Volumes 
D. Config Maps 
E. Storage Classes 
 

Answer: A C E     
 

Question: 3 
   
What must you do to pull a container image from a private registry? Note: There are 2 correct Answers 
to this question. 
 
A. Create a secret with the type "kubernetes.io/docker configjson". 
B. Provide credentials in the pod manifest via image Pull Secrets" in "spec template metadata 
annotations" 
C. Create a secret with the type "Opaque" 
D. Provide credentials in the pod manifest via "image Pull Secrets" in spec. template. spec. 
 

Answer: A D     
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Question: 4 
   
Which of the following observability tools are available in SAP BTP, Kyma runtime? Note: There are 2 
correct Answers to this question. 
 
A. Loki 
B. Jaeger 
C. Kiali 
D. Crafana 
 

Answer: A D     
 

Question: 5 
   
What are some benefits of using the Istio service mesh in SAP BTP, Kyma runtime? Note: There are 3 
correct Answers to this question. 
 
A. Networking is decoupled from the application logic. 
B. Networking is coupled to the application logic. 
C. Mutual TLS is supported for service to service communication. 
D. Distributed tracing can be used to trace request flows. 
E. Traffic management between services can be controlled. 
 

Answer: A C E     
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